Q

2/3 Port Mechanical Valve

Series VM 100

Compact size.
Piping options:

Side piping, Bottom piping
A variety of actuator types.

5-6-12

Specifications

Piping

Side ported [ Bottom ported

Fluid

Air/lnert gas

Operating pressure

—100 kPa to 1.0 MPa

Ambient and fluid temperature

-5 to 60°C (No freezing)

Effective area

2.5 mm?

Lubrication Not required (Use turbine oil Class 1 ISO VG32, if lubricated.)
Port size 8 M5 x 0.8
Weight (Basic) 959 1109
Model
Side ported Bottom ported Actuator Aoolication
2 port 3 port 2 port 3 port part no. ppiicatio
e VM120-01-00 | VM130-01-00 | VM122-M5-00 | VM132-M5-00|
. VM121-01-00 | VM131-01-00 | VM123-M5-00 | VM133-M5-00
S | Roller lever | YM121-01-01 | VM131-01-01 | VM123-M5-01) VM133-M5-01]  — | Polyacetal roller
g VM121-01-01S | VM131-01-01S | VM123-M5-01S | VM133-M5-01S| — | Hard steel roller
S [One way VM121-01-02 | VM131-01-02 | VM123-M5-02| VM133-M5-02) — | Polyacetal roller
g [roller lever | VM121-01-02S | VM131-01-02S | VM123-M5-025 | VM133-M5-028| — | Hard steel roller
‘€ | Straight plunger | VM120-01-05 | VM130-01-05 | VM122-M5-05| VM132-M5-05| VM-05B —
5 |Roller VM120-01-06 | VM130-01-06 | VM122-M5-06| VM132-M5-06) VM-06B | Polyacetal roller
2 | plunger VM120-01-06S | VM130-01-06S | VM122-M5-06S | VM132-M5-06S | VM-06BS | Hard steel roller
Cross roller | VM120-01-07 | VM130-01-07 | VM122-M5-07| VM132-M5-07| VM-07B | Polyacetal roller
plunger VM120-01-07S | VM130-01-07S | VM122-M5-07S | VM132-M5-07S | VM-07BS | Hard steel roller
Toggle lever | VM120-01-08 | VM130-01-08 | VM122-M5-08| VM132-M5-08| VM-08B
VM120-01-30R | VM130-01-30R | VM122-M5-30R | VM132-M5-30R | VM-30AR Red
Push button | VM120-01-30B | VM130-01-30B | VM122-M5-30B | VM132-M5-30B | VM-30AB Black
(Mushroom) | yM120-01-30G | VM130-01-30G | VM122-M5-30G| VM132-M5-30G| VM-30AG Green
VM120-01-30Y | VM130-01-30Y | VM122-M5-30Y | VM132-M5-30Y | VM-30AY Yellow
VM120-01-32R | VM130-01-32R | VM122-M5-32R | VM132-M5-32R| VM-32AR Red
Push button | VM120-01-32B | VM130-01-32B | VM122-M5-32B | VM132-M5-32B | VM-32AB Black
§ |(Extended) | yM120-01-32G | VM130-01-32G | VM122-M5-32G| VM132-M5-32G | VM-32AG Green
‘g VM120-01-32Y | VM130-01-32Y | VM122-M5-32Y | VM132-M5-32Y | VM-32AY Yellow
g F,éfﬁgh?“tton VM120-01-33 | VM130-01-33 | VM122-M5-33| VM132-M5-33| VM-33A | plack e yeliw
§ ) VM120-01-34R | VM130-01-34R | VM122-M5-34R | VM132-M5-34R| VM-34AR Red
= l;‘l”esétor VM120-01-34B | VM130-01-34B | VM122-M5-34B | VM132-M5-34B| VM-34AB Black
(2 position) | VM120-01-34G | VM130-01-34G | VM122-M5-34G| VM132-M5-34G| VM-34AG Green
VM120-01-34Y | VM130-01-34Y | VM122-M5-34Y | VM132-M5-34Y | VM-34AY Yellow
éeg(fsﬁt'ﬁ)";fr VM120-01-36 | VM130-01-36 | VM122-M5-36| VM132-M5-36| VM-36A
VM131-01-35R | VM151-01-35R | VM133-M5-35R | VM153-M5-35R|  — Red
Twist VM131-01-35B | VM151-01-35B | VM133-M5-35B | VM153-M5-35B]  — Black
selector VM131-01-35G | VM151-01-35G | VM133-M5-35G| VM153-M5-35G|  — Green
(3 position) - ['yp131-01-35Y | VM151-01-35Y | VM133-M5-35Y | VM153-M5-35Y|  — Yellow
(3 port) (5 port) (3 port) (5 port) —

Note 1) Actuator replacement is available for all types except for roller lever, one way roller lever,
Q and 3 position selector.
Note 2) For push button (mushroom), push button (extended), push button (flush) and a single
unit of fastening ring, refer to pages 5-6-6 to 5-6-7. The other parts are not replaceable.
Note 3) The handle of the selector (2 position and 3 position) cannot be removed or replaced
alone.

o
5



2/3 Port Mechanical Valve Series VM 1 00

How to Order

VM1 |3|[1101H01)S

| Suffixt -~ Suffix for indicator light
UtTiX Tor actuator With miniature
Port size Actuator typ? S | Hard steel roller Z | indicator light (Bottom
00 Basic R | Red piping type only)
o1 Rc V8 01 Roller lever B | Biack| Colorof
M5 |M5 x 0.8 (Female thread) 02 | One way roller lever G |Green push button
NO1 NPT V3 05 Straight plunger Y [Yelow selector SOA
Fo1 G Vs 06 Roller plunger ——
Piping direction and 07 | Cross roller plunger Height of rod push | Side ported | Bottom ported VDA
the length of push rod L Toggle lever Long [Short| Long [ Short ———
9 | Long o 30 | Push button (Mushroom) Actuator 0 1 2 3 SDA
1 Tshort | ported 32 | Push button (Extended)  “gacic wl ool ol o BVe/]m
2 | Lon 33 FTUSh button (Flush) Roller lever 01 X O X ©) VOA
9 | Bottom 34 | Twist selector (2 position)
3 | Short | ported - One way roller lever 02 X O X O L
36 | Key selector (2 position) Straight plunger 05| O X 0O X
umber of ports 35 | Twist selector (3 position) Roller plunger 06| O X o) X
T2 | 2 port Cross roller plunger 07| O X O X
z 3 port Toggle lever 08| O X O X
Push button (Mushroom) [ 30 | O X ©) X —
Push button (Extended) [ 32| O | «x @) X VH
Push button (Flush) 33| O X O X —
Twist selector (2 position)| 34 | O X O X VH s
Key selector (2 position) | 36 | O X O X L
Twist selector (3 position) | 35 | x O X ©)

Combination possible: O, Combination impossible: x
Construction

Side ported Bottom ported
R port
R port 3 port only
3 port only
Non-actuated Non-actuated
A P
Force
Actuated G Actuated
ol LIO
| | -
A ’ . : . P ~-4|> : ‘ G:
i - ..-l“
¥ *
A P
Component Parts
No. Description Material Note No. Description Material Note
@ Valve ZDC Metallic plated ® | Gasket NBR
@ Plunger POM @ | Cover Rolled steel
©) Valve sheet POM Sub-plate ZDC Metallic plated
@ Valve NBR (@ | Hexagon socket head plug Rolled steel
®) Spring Stainless steel I

5-6-13

O
5



Series VIM100

Series VM100/Side Ported

] 2-M3X05
Basic Actuator mounting hole ‘ JIS Symbol 54
VM120-01-00 PN 2 port
VM130-01-00 I 7 F 1)
VM121-01-00 27
2(A)
VM131-01-00 R port o4 i 3 port
- EEH
(3 port only) a|loH N@Z‘D
i< Yol 1(P)3(R
i N Ea ﬁp ) (P)3(R)
DT 2o [T« = Model L | A # 0.5 MPa supply
gf - 56— O- 2% VM120-01-00 |, | 7 5 F.OF.* 20N
17 o 264 VM130-01-00 |°“°| © P.T. 1.5 mm
n 44 VM121-01-00 O.T. 1.5 mm
2-4.6 mounting hole VM131-01-00 28.,5| 35 TT. 3.0 mm
Roller lever JIS Symbol
VM121-01-01 »10 2 port /\/ﬂﬂ:)
VM131-01-01 i 455 Polyacetal or hard steel roller
VM121-01-01S E = :: 29 1(P)
=
VM131-01-01S z R port 3 port 2(A)
N 2 | (3 port only) /\/\Elﬂj
== @ @ !
€§W‘ . J l—]% By N 1P)3(R)
Y o & = 9 # 0.5 MPa supply
= ; - F.O.F. * 10N
L 254 LQ 1 / P.T. 3.2 mm
4 Ln\ 246 mouzn-tf3 hole HIE 2.3 mm
- 9 T.T. 5.5 mm
One way roller lever o JIS Symbol om)
[%]
VM121-01-02 Polyacetal or hard steel roller 2 port L
VM131-01-02 f—f*—ﬁ;:f 8 T o
VM121-01-02S ) )
VM131-01-02S I
1 R port 3 port 2(A)
= iy (3portonly) M / D
— o P eos T T
= N 1(P)3(R)
2 \%j SI +0.5 MPa supply
P F.O.F. * 10N
%/ P.T. 3.2mm
2-4.6 mounting hole O.T. 2.3mm
T.T. 5.5 mm
Straight plunger o M14 ] Panel mounting JIS Symbol
VM120-01-05 el o8 hole - 2 port 2(A)
VM130-01-05 el ®\/ AAE]:D’_‘)
1(P)
% o lo 3 port 2(A)
—Ig|e MAX/
o (3 port only) 1(P) 3(R)
« Q * 0.5 MPa supply
g ) 4 nl 14 ;I FOF.* 23 N
g [282 |\ = ‘ OF.
\l ) e 24 S P.T. 2.0 mm
— 214 2-4.6 O.T. 1.5 mm
8 N .
mounting hole T.T. 3.5 mm
Roller plunger 1 2M14X1 Panel mounting  JIS Symbol
0 _
VM120-01-06 *Polyacetal or e hole 2port o)
VM130-01-06 x »51 H hard steel roller B I:)
VM120-01-06S

VM130-01-06S

_00
3!

\‘B |= R port
> 9 _€ (3 port only)
o4 2

254 10
44 o

[ L
®y /N T
1(P)
MAX6 8 port 2(A)

Hjji=
1(P)3(R)
* 0.5 MPa supply
F.O.F. * 23N
P.T. 2.0 mm
O.T. 1.5 mm
T.T. 3.5 mm




2/3 Port Mechanical Valve Series VM 1 00

Series VM100/Side Ported

Cross roller plunger 210 Panel mounting  JIS Symbol
Polyacetal or hole 2(A)
VM120-01-07 hard steel roller o M1AXA o 2 port N@Ib
VM130-01-07 Hexagon ut tick 5 ®/
VM120-01-07S across flats 17 3 vort 1(P)
VM130-01-07S @1 - waxs o PO 2(A)
P 3]
e
- [ A Ropor 1(P)3(R)
9 {}F@ port only) «0.5MPasupply |
: ‘—‘I FOF.* 23N SOA
j! o 3 PT. 2 mm —
2-46
-\‘ ® ¢ o mounting hole O.T. 1.5mm VDA
e — T.T. 3.5 mm —
Toggle lever Panel mounting  JIS Symbol SOA
VM120-01-08 hole 2 port 2 ere
VM130-01-08 s ] W T
o R e O pasfps A
across flats 17 3 port 1(P)
MAX.6
! 2(A)
5 !
= & : R port Tl T —
b;ilﬂ € ms port only) 1(P)3(R) VH
IANE i e —
W17 ) ; + 0.5 MPa supply
2 2-4.6
214 mounting hole FO.F. * 10N VHS
T.T. 60°
Push button (Mushroom) Panel mounting  JIS Symbol Ja
VM120-01-30R/B/G/Y . hole 2 port A
VM130-01-30R/B/G/Y ik N\E:D:D
’ ——— 3 port 2(A)
B 1(P)3(R)
R port =2
(3 port only) e * 0.5 MPa supply
| i | F.O.F.* 21N
‘ vt bt . P.T. 4.9 mm
\ F 5 @ mountingzrfélee O.T. 1.6 mm
) T.T. 6.5 mm
Push button (Extended) 038 Panel mounting  JIS Symbol
VM120-01-32R/B/G/Y 22 HH hole 2 port 24)
VM130-01-32R/B/G/Y - - N\Eﬂj}
= 5 1(P)
3 port
i r f © B P 2(A)
S : = = |Q
R port i <+ =T 15 | A 1(P)3(R)
A Rl 3
(3 port only) % = b{bﬂ@- 9 < q 0.5 MPa supply
=5 FYRIANE. = F.O.F.* 21N
44 0 2-4.6 P.T. 4.9 mm
214 mounting hole O.T. 1.6 mm
T.T. 6.5 mm
Push button (Flush) Panel mounting  JIS Symbol o)
VM120-01-33 38 hole 2 port
VM130-01-33 ez I NE[D:D
1(P)
— o f
L — *é : ]2[_ § 3 port 2(A)
s T e we  MAFD
©
J ol 1(P)3(R)
R port = - L
(Sportonl ) [ )_>J i . mE _-IE}L
P ah ¢ {}@Qi_%“‘ E[ # 0.5 MPa supply
BN 4 B == F.O.F.* 21N
, 44 “ 246 P.T. 4.9 mm
2-Yg mounting hole OT. 1.6 mm
T.T. 6.5 mm
5-6-15

SMC

O



Series VIM100

Series VM100/Side Ported

Twist selector (2 position)
VM120-01-34R/B/G/Y
VM130-01-34R/B/G/Y

Panel mounting hole

JIS Symbol
2 port o(A)
MAX6 | Tk
IR
@24.b 1(P)
M‘lﬁﬂlﬂ ‘ i 3 port
,,,,,,, 00| R b 2(A)
E{ﬂ'ﬂT i |
i ™| N — AAS T /
SE] é o g P ey 1(P) S(R)
- , — LI E%L
R port : R S 2
(3 port only) {}m > @ €J .
i - 7
17 254 fta)
44 & * 0.5 MPa supply
26 246 FOF.* 15N
mounting hole T.T. - 90°
Key selector (2 position) on Panel mounting hole
VM120-01-36
VM130-01-36 i I &
Q|
= I ‘ JIS Symbol
2 port
. OFF 39 MAX.6 | 2_(LA) i
38 V] T
. 1(P)
L N
3 port
| 2(A)
I
E — oy /fr i
& g 1(P)3(R)
|~ Y
< 2}
R port P 3 T A
(3 port only) C% S & p=
s ¥
17 245".14 o ' * 0.5 MPa supply
Q Key can be removed at the 2l 2-4.6 F.O.F. * 15N
“on” and “off” positions. mounting hole T.T. 90°
Twist selector (3 position) Panel mounting hole
VM131-01-35R/B/G/Y
VM151-01-35R/B/G/Y - &
= JIS Symbol
L ‘ 3 port
. MAX 6 | 28 2(A)
5, @
I 5 port
&9 . 2(A) 2(A)
e AN
al |7 MYYITHY/T
t‘g s - 3(R)1(P) 3(R)
K 1 FATAT
g sl IR
* RS s ST TR
R port 44 17
(3 port only) 34

* 0.5 MPa supply

F.O.F.*

15N

T.T.

45°

5-6-16




Series VM100/Bottom Ported

2/3 Port Mechanical Valve Series VM 1 00

Basic

2-M3X0.5 > i
VM122-M5-00 Actuator mounting hole S por 3
VM132-M5-00 § T MallP
VM123-M5-00 27 1(ZP)A
VM133-M5-00 R port y o 2-M5 x 0.8 depth 4 3 port (A)
A sl jim
‘ 3 por;only) ol H = T T
TAT EANNENED 1P13E) S
g} g J< Model L T A * 0.5 MPa supply SCA
- g 7 ‘? VM122:M5-00 [ | FOF.* 20N ——
17 25.4 VM132-M5-00 : : P.T. 1.5 mm VDA
2-4.6 44 VM123-M5-00 335| 35 O.T. 1.5mm L
mounting hole VM133-M5-00 i i T.T. 3.0 mm SDA
Roller lever JIS Symbol o —
iz o | vow
VM123-M5-01S 455 o T -
] - olyacetal or hard steel roller 1(P) VM
VM133-M5-01S Elg K 29 / 8 3 port 2(A)
t 7aR\1 R port /M At:) VR
/J:'/)’,\ = (3 port only) 1(;;;3“:{) L
B ;fT—\d:(—E é ﬁ) 7 + 0.5 MPa supply VH
8 é_@f" | 2-M5 x 0.8 depth 4 FOF * 0N —
- .O.F.
; ‘ = P.T. 3.2mm VHS
2-4.6 254 O.T. 2.3 mm
mounting hole 44 T.T. 5.5 mm
One way roller lever JIS Symbol
VM123-M5-02 465 210 2 port Ik
VM133-M5-02 E '5: 5 20 Polyacetaéor hard steel roller T :)
VM123-M5-02S T = 1(P)
VM133-M5-02S % \é’jfi L g R port 3 port 2(A)
.Ilaﬂ\!!:. } LA 15‘ ¥(3 port only) /‘ :—)
3 Qs M1yl fr
2 CARBEREI - . 1P)I(R)
G |
¥ -0 o } 2-M5 x 0.8 depth 4 18 0.5 MPa supply
1*7 s . = ! F.O.F.* 10N
mounting hole 44 gyg@% P.T. 3.2mm
O.T. 2.3 mm
T.T. 5.5 mm
Straight plunger JIS Symbol 5,
VM122-M5-05 2-M14x 1 2 port T 714
VM132-M5-05 Hexagon nut thick 5, AVA T O
1 o8 across flats 17 Panel 1P
o) ofH ] mounting hole
; ( R Por; »e 3 port 2(A)
3 port only
®/’ a4 TY
o 1(P)3(R)
~ MAX6 # 0.5 MPa supply
2-M5 x 0.8 depth 4 18 F.O.F.* 23N
=546 - P.T. 2.0 mm
17 -4 My Al
mounting hole = &@ﬂh{‘ '?': (132 22
Roller plunger Panel ;'S Stymb°' o0
-M5- mounting hole por
¥m1 gg-mg-gg | = = mF(’)onacetal or 4 ALy hick a2 - /\/\ . ‘ D
VM122-M5-06S NS hard steel roller exagon nut thick 5, > T
-IVIo- - ross flats 17 : 1(P)
VM132-M5-06S 3 port 2(A
o 1= MAX.6
A
/7 M| D
Iy I ] 1P 1(P)3(R)
@ )4 g O Reot 5,08 6e0ms 8 * 0.5 MPa supply
f%{% s B (3 port only) F.O.F.* 23N
17 |2-4.6 284 — ="y P.T. 2.0 mm
mounting hole 44 = O.T. 1.5 mm
T.T. 3.5 mm
5-6-17

O



Series VIM100

Series VM100/Bottom Ported

Cross roller plunger oo :a:\el mounting JIS Symbol p(p
VM122-M5-07 ole o 2 port LT 4
VM1 32-M5-07 e . Polyacetal or 2M14 X1 AN P /N - D
ool H] hard steel roller Hexagon nut thick 5, - P
VM122-M5-07S 3 across flats 17 ®)
VM132-M5-07S s MAX6 3 port 2(A)
o |8 R port
= R = (3 port only) N TY A—
—— 1< 1(P)3(R)
'»J__T_])?— - 0.5 MPa supply
54 ‘%B—Lq = 2-M5 x 0.8 depth 4 18 FOF * 23 N
. | OI = P.T. 2mm
17| 2-46 254 - O.T. 1.5 mm
mounting hole 44 3 TT. 3.5 mm
Toggle lever Panel mounting JIS Symbol
hole 2(A)
VM122-M5-08 o a0 2port, T
L1, -] X
VM132-M5-08 | e ®/ el
i / thick 5, 1(P)
across flats 17 MAX 6 3 port
& R port | 2(A)
S (3 port only) Y] TV A_
1(P)3(R)
| 2-M5x 0.8 18
\ 2 I 1
- ?/_—).’ ) depth 4 — 0.5 MPa supply
«<—— ‘ " mounting hole 44 B P40 B F.O.F. * 10N
P.T. 60°
Push button (Mushroom) Panel mounting JIS Symbol  2(a)
VM122-M5-30R/B/G/Y 040 e hole 2port  Ap ]
VM132-M5-30R/B/G/Y ; | e il L & 1"(';))
o & 3 port
= Ml L
ook j] I [q . MAX.6 TYL /T
, -9 5\1: 2:M5 x 0.8 depth 4 PI(R)
. . o R port —
)< = = €} (3 port only) # 0.5 MPa supply
i g - N F.O.F.* 21N
—;5;4 - ~ U= P.T. 4.9 mm
44 18 ] OT. 1.6 mm
mounting hole T.T. 6.5 mm

Push button (Extended)
VM122-M5-32R/B/G/Y
VM132-M5-32R/B/G/Y

Panel mounting JIS Symbol QJ(_A)
hole ‘
2 port T :D
1(P)

et (20
f o, 9, 2

=

3 port
3 MAX.6 /\/\ T :D
T3]
N R port 2-M5 x 0.8 depth 4 1(P) 3(R)
) (3 port only) % 0.5 MPa supply
F.O.F. * 21N
TJ__ Pt 4.9 mm
2-4.6 4 18 O.T. 1.6 mm
mounting hole T.T. 6.5 mm
Push button (Flush) Panel mounting JIS Symbol
VM122-M5-33 hole 2 port 2‘[(_A) :
VM132-M5-33 MI|TD
1(P)

3 port 2(A
sy
g7 1(P)3(R)

+ 0.5 MPa supply
F.O.F. * 21N
P.T. 4.9 mm
mounting hole O.T. 1.6 mm
T.T. 6.5 mm

5-6-18

O
5



Series VM100/Bottom Ported

2/3 Port Mechanical Valve Series VM 1 00

Twist selector (2 position)

Panel mounting hole

* 0.5 MPa supply

F.O.F.* 20N
T.T. 45°
5-6-19

VM122-M5-34R/B/G/Y OFF
VM132-M5-34R/B/G/Y
- JIS Symbol
= 2port  o(p)
MAX.6 E'Z a ITk
T
b SOA
3 port 28) —
| %\ VOA
Si— ARS TY /;' P
R 1P 3(R) SOA
: a é 4 2-M5 x 0.8 depth 4 {;hw VOA
A Ea >~ ;‘# R port ] L
@ . —% o J{} (3 port only) é é;‘”a VM
- B e |
L7 284 18 # 0.5 MPa supply
2-4.6 44 F.O.F. * 15N —VR
mounting hole TT. 90° VH
Key selector (2 position) Panel mounting hole —
VM122-M5-36 OFF VHS
VM132-M5-36 —
JIS Symbol
2 t
por ”
,. . | L A
-t MAX.6
| TR
El 1(P)
3 port
2(A)
|
T ER
R port 1(P) 3(R)
(3 port only)
2-M5 x 0.8 depth 4 &
| BN
Key can be removed at the “on” 2-4.6 44 — * 0.5 MPa supply
and “off” positions. mounting hole F.O.F.* 15N
T.T. 90°
Twist selector (3 position) Panel mounting hole
VM133-M5-35R/B/G/Y
VM153-M5-35R/B/G/Y
JIS Symbol
3 port
2(A)2(A)
MAX.6 1
238 1(P)
2245
| 5 port
2(A)2(A)
] '2«, K 3(R)1(P) 3(R)
e \
[ ® S Rport
¢ . €>‘ é% (5 port only)
==aa =



	VM100: 2/3 Port Mechanical Valve
	How to Order/Component Parts
	Dimensions


